
SOLUTIONS WITH PASSION.

Create Fixtures Yourself:
FIXTURE TECH KITS DIY
Version: April 2023



2

FIXTURE TECH Kits – easy clamping even for the most complex workpieces

Compatible designs of all FIXTURE TECH Kits 
All kits are modular and can be individually extended and reused. 
The construction principle allows the fast, cost-effective creation of 
measurement fixtures and holding devices. ​The modular elements 
are designed so that they can be used multifunctionally. The space-
saving design of the modular elements enables optimal accessibility 
of all measuring points.

High-end fixturing technology
FIXTURE TECH Kits offer a unique connecting, fastening and clam-
ping technology, which ensures a high degree of precision, repeata-
bility and fast part change-out. 

The FIXTURE TECH Kits are standardized fixture kits designed for various clamping requirements. The range of 
applications extends from mechanically processed small parts to large-volume car body components that have to be 
measured horizontally or vertically.  All components can be bought or reordered individually.​

High stability and rigidity
Thanks to the high-end materials the system offers excellent stability 
and rigidity, as well as good accessibility of the measuring points 
and precise interaction with measuring machines to ensure reliable 
results. 

CAD data for digital construction of fixtures
A CAD library of all FIXTURE TECH Kit components supports the fast 
design and production of fixtures. All Kits are equipped with the nee-
ded tools to set up the fixtures. 

Holding device for clamping a bell housing



3

Table of Contents

	 For small components:	 FTS no.:	 Page

Overview: Kit Variations for small components	 ……………………………………………………………………………………………	 	 4

FIXTURE TECH Kit Lite – M4, 240x240mm (Additional-Kit)1	…………………………………………	 600062-0351-026		………………	 	 5
universally applicable fixture system with M4 thread – without Gridplate

FIXTURE TECH Kit – M4, 240x240mm 	………………………………………………………………… 	600062-0351-027		………………	 	 6
universally applicable fixture system with M4 thread – with Gridplate

FIXTURE TECH Kit Lite – M6, 240x240mm (Additional-Kit)1	………………………………………… 	600062-0351-022		………………	 	 7
universally applicable fixture system with M6 thread – without Gridplate

FIXTURE TECH Kit – M6, 240x240mm	 ………………………………………………………………… 	600062-0351-023		………………		  8
universally applicable fixture system with M6 thread – with Gridplate

	 For medium sized components:	 FTS no.:	 Page

Overview: Kit Variations for medium sized components	……………………………………………………………………………………	 	 9

FIXTURE TECH Kit Lite – M6, 500x500mm (Additional-Kit)1	………………………………………… 	600062-0351-005		………………	 10
universally applicable fixture system with M6 thread – without Gridplate

FIXTURE TECH Kit – M6, 500x500mm	 ………………………………………………………………… 	600062-0351-006		………………	 11
universally applicable fixture system with M6 thread – with Gridplate

Overview: Kits for small to medium sized components	 ……………………………………………………………………………………	 12

FIXTURE TECH Kit – Jointed Arm, 500x400mm	 ……………………………………………………… 	600062-0001-259		………………	 13
universally applicable fixture system with measurement mounting units 
with adjustment or setting options in 6 degrees of freedom

	 For medium sized to big components:	 FTS no.:	 Page

Overview: Kits for medium sized to big components	 ………………………………………………………………………………………	 14

FIXTURE TECH Kit – Jointed Arm, 1000x1000mm 	 …………………………………………………… 	600062-0001-248		………………	 15
universally applicable fixture system with measurement mounting units 
with adjustment or setting options in 6 degrees of freedom

Overview: Kits for large components	 ………………………………………………………………………………………………………	 16

FIXTURE TECH Kit – Profile, 1800x600mm 	 …………………………………………………………… 	600062-0001-260		………………	 17
multifunctional clamping system in profile design 
for large metal and plastic components

FIXTURE TECH Kit – Profile Assembly Station, 1200x400mm 	………………………………………… 	600062-0351-035		…………	18 - 19
multifunctional clamping system in profile design 
for small, medium sized and large metal and plastic components

	 Jointed Arm Units: 		  Page

Overview Variations of Jointed Arm Units	……………………………………………………………………………………………………	 20

Jointed Arms Units components	 ……………………………………………………………………………………………………………	 21

	 Concept creation	 Page

Individual assembly instructions	………………………………………………………………………………………………………………	 22

(Additional-Kit)1  = can only be used with other components, e.g. Gridplates



4

zurück zum Inhaltsverzeichnis
Overview: Kit Variations for small components

The FIXTURE TECH Kit – M4, 240x240mm is a universal clamping sys-
tem for small components. The user-friendly modular system of stain-
less-steel components and matching tools enables the flexible and 
easy construction of individual measurement fixtures for your CMM.

A Gridplate with the dimensions 240mm x 240mm is supplied in
FIXTURE TECH Kit. The Lite version of the kit is supplied without Grid-
plate.
Suitable for: small components

Small holding device for clamping 
an electronic component

Small holding device for clamping 
a plastic housing

FIXTURE TECH Kit Lite – M4, 240x240mm 

FTS no.:	 600062-0351-026

FIXTURE TECH Kit – M4, 240x240mm 

FTS no.:	 600062-0351-027

FIXTURE TECH Kit Lite – M6, 240x240mm 

FTS no.:	 600062-0351-022

FIXTURE TECH Kit – M6, 240x240mm 

FTS no.:	 600062-0351-023

Price:	 950,00 € Price:	 1.990,00 €

Price:	 890,00 € Price:	 1.850,00 €



5

01

20

0807 02 09 06
05

16
18

19

19

19

19

19

19

14

13

04

03

15 10 11 12

17

zurück zum Inhaltsverzeichnis
Application: small components

Pos.	  FTS no.	 Qyt.	  Description
01	 600062-0351-026	 1	 FIXTURE TECH Kit Lite – M4, 240x240mm
02	 600062-0351-009	 2	 Part Support D10 M8x0,5 - Longitudinal
03	 600062-0351-030	 4	 Adapter Column D10 M6 - M4 MF - L15
04	 600062-0215-002	 6	 Bracket 12x10x60 - M6
05	 600062-0215-013	 4	 Part Fastening D10 D5 - Wire Clip
06	 600062-0215-006	 3	 Part Support D10 M8x0,5 - Spherical
07	 600062-0215-008	 2	 Part Support D10 M8x0,5 - Cone Support
08	 600062-0215-029	 2	 Part Support D10 M8x0,5 - Prism D14, narrow
09	 600062-0215-005	 1	 Part Support D10 M8x0,5 - Corner Support
10	 600062-0215-022	 4	 Column D10 M4 MF - L15

Pos.	  FTS no.	 Qyt.	  Description
11	 600062-0215-023	 4	 Column D10 M4 MF - L22,5
12	 600062-0215-024	 4	 Column D10 M4 MF - L30
13	 600062-0215-012	 4	 Adapter Column D10 M4 - M6 MF - L15
14	 600062-0215-025	 4	 Column D10 M6 MF - L15
15	 600062-0215-026	 4	 Column D10 M6 MF - L22,5
16	 600062-0215-010	 4	 Part Fastening D10 - Column for Clip, L=40mm
17	 600062-0215-019	 4	 Thread Adapter M4 - M8x0,5
18	 600062-0215-020	 4	 Thread Adapter M6 - M8x0,5
19	 600062-0351-029	 1	 FIXTURE TECH Kit M4 240x240 Toolkit
20	 600062-0215-039	 1	 FIXTURE TECH Kit Lite M4 240x240 Case
			   (empty case with foam inlay)	

All individual parts can also be reordered separately

FIXTURE TECH Kit – Lite M4, 240x240mm 

FTS no.:	 600062-0351-026
Price:	 950,00 €



6

01

01

35

1315 16 17 18 04 19 14

31

34

34

34

34

34

34

02
30

21 22
2025 26

24

23 05

07

08

28

11 10 09 06

12

03

03

2927

2927

3233

zurück zum Inhaltsverzeichnis
Application: small components

Pos.	  FTS no.	 Qyt.	  Description
01	 600062-0351-027	 1	 FIXTURE TECH Kit - M4, 240x240mm
02	 600062-0210-131	 2	 Column D10 M6 FF - L15
03	 600062-0001-245	 4	 Part Fastening D20 M6 - Flat Magnet
04	 600062-0351-009	 2	 Part Support D10 M8x0,5 - Longitudinal
05	 600062-0351-030	 4	 Adapter Column D10 M6 - M4 MF - L15
06	 600062-0215-001	 1	 Gridplate 15x240x240, Grid 15x15mm - M4
07	 600062-0215-002	 6	 Bracket 12x10x60 - M6
08	 600062-0215-013	 5	 Part Fastening D10 D5 - Wire Clip
09	 600062-0215-015	 1	 Part Fastening D10 M6 - Pliers Clamp
10	 600062-0215-016	 1	 Part Fastening D10 M6 - Parallel Clamp
11	 600062-0215-017	 1	 Connecting Elements D10 M6 - Hinge L40
12	 600062-0215-018	 1	 Connecting Elements D10 M4 -  Angle 45°
13	 600062-0215-009	 2	 Part Support D10 M8x0,5 - Flat Support
14	 600062-0215-006	 3	 Part Support D10 M8x0,5 - Spherical
15	 600062-0215-008	 2	 Part Support D10 M8x0,5 - Cone Support
16	 600062-0215-007	 2	 Part Support D10 M8x0,5 - Prism D10
17	 600062-0215-028	 2	 Part Support D10 M8x0,5 - Prism D10, narrow
18	 600062-0215-029	 2	 Part Support D10 M8x0,5 - Prism D14, narrow
19	 600062-0215-005	 1	 Part Support D10 M8x0,5 - Corner Support

Pos.	  FTS no.	 Qyt.	  Description
20	 600062-0215-022	 4	 Column D10 M4 MF - L15
21	 600062-0215-023	 4	 Column D10 M4 MF - L22,5
22	 600062-0215-024	 4	 Column D10 M4 MF - L30
23	 600062-0215-012	 4	 Adapter Column D10 M4 - M6 MF - L15
24	 600062-0215-025	 4	 Column D10 M6 MF - L15
25	 600062-0215-026	 4	 Column D10 M6 MF - L22,5
26	 600062-0215-027	 4	 Column D10 M6 MF - L30
27	 600062-0215-014	 2	 Column D10 M6 - Adjustable
28	 600062-0215-010	 5	 Part Fastening D10 - Column for Clip, L=40mm
29	 600062-0215-004	 4	 Column D10 M6/M8x0,5 - L50
30	 600062-0215-019	 4	 Thread Adapter M4 - M8x0,5
31	 600062-0215-020	 4	 Thread Adapter M6 - M8x0,5
32		  2	 Hex. sock. M12x20 DIN 7984 8.8 ZNS 
			   with low head
33		  2	 Hex. sock. M10x20 DIN 7984 8.8 ZNS
			   with low head
34	 600062-0351-029	 1	 FIXTURE TECH Kit M4 240x240 Toolkit
35	 600062-0215-040	 1	 FIXTURE TECH Kit M4 240x240 Case
			   (empty case with foam inlay)

All individual parts can also be reordered separately

FIXTURE TECH Kit – M4, 240x240mm 

FTS no.:	 600062-0351-027
Price:	 1.990,00 €



7

18

01

0413051203

1009 06 11 08

14

07

15
16

02

17

17

17

17

17

17

zurück zum Inhaltsverzeichnis
Application: small components

Pos.	  FTS no.	 Qyt.	  Description
01	 600062-0351-022	 1	 FIXTURE TECH Kit Lite – M6, 240x240mm
02	 600062-0210-114	 6	 Bracket 20x10x64 - M6
03	 600062-0210-131	 4	 Column D10 M6 FF - L15
04	 600062-0351-008	 4	 Column D10 M6 FF - L30
05	 600062-0351-007	 4	 Column D10 M6 FF - L22,5
06	 600062-0351-009	 2	 Part Support D10 M8x0,5 - Longitudinal
07	 600062-0215-013	 4	 Part Fastening D10 D5 - Wire Clip
08	 600062-0215-006	 3	 Part Support D10 M8x0,5 - Spherical
09	 600062-0215-008	 2	 Part Support D10 M8x0,5 - Cone Support

Pos.	  FTS no.	 Qyt.	  Description
10	 600062-0215-029	 2	 Part Support D10 M8x0,5 - Prism D14, narrow
11	 600062-0215-005	 1	 Part Support D10 M8x0,5 - Corner Support
12	 600062-0215-025	 4	 Column D10 M6 MF - L15
13	 600062-0215-026	 4	 Column D10 M6 MF - L22,5
14	 600062-0215-027	 4	 Column D10 M6 MF - L30
15	 600062-0215-010	 4	 Part Fastening D10 - Column for Clip, L = 40mm
16	 600062-0215-020	 8	 Thread Adapter M6 - M8x0,5
17	 600062-0351-028	 1	 FIXTURE TECH Kit M6 240x240 Toolkit
18	 600062-0215-037	 1	 FIXTURE TECH Kit Lite M6 240x240 Case
			   (empty case with foam inlay)	

All individual parts can also be reordered separately

FIXTURE TECH Kit – Lite M6, 240x240mm 

FTS no.:	 600062-0351-022
Price:	 890,00 €



8

01

01

31

0722
082106

1416 17 18 19 09 20 15

23

10

25

27

04

30

30

30

30

30

30

13 12 11 03

05

02

02

2624

2624

2829

zurück zum Inhaltsverzeichnis
Application: small components

Pos.	  FTS no.	 Qyt.	  Description
01	 600062-0351-023	 1	 FIXTURE TECH Kit - M6, 240x240mm
02	 600062-0001-245	 4	 Part Fastening D20 M6 - Flat Magnet
03	 600062-0210-113	 1	 Gridplate 15x240x240, Grid 15x15mm - M6
04	 600062-0210-114	 6	 Bracket 20x10x64 - M6
05	 600062-0210-120	 1	 Connecting Elements D10 M6 -  Angle 45°
06	 600062-0210-131	 4	 Column D10 M6 FF - L15
07	 600062-0351-008	 4	 Column D10 M6 FF - L30
08	 600062-0351-007	 4	 Column D10 M6 FF - L22,5
09	 600062-0351-009	 2	 Part Support D10 M8x0,5 - Longitudinal
10	 600062-0215-013	 5	 Part Fastening D10 D5 - Wire Clip
11	 600062-0215-015	 1	 Part Fastening D10 M6 - Pliers Clamp
12	 600062-0215-016	 1	 Part Fastening D10 M6 - Parallel Clamp
13	 600062-0215-017	 1	 Connecting Elements D10 M6 - Hinge L40
14	 600062-0215-009	 2	 Part Support D10 M8x0,5 - Flat Support
15	 600062-0215-006	 3	 Part Support D10 M8x0,5 - Spherical
16	 600062-0215-008	 2	 Part Support D10 M8x0,5 - Cone Support
17	 600062-0215-007	 2	 Part Support D10 M8x0,5 - Prism D10

Pos.	  FTS no.	 Qyt.	  Description
18	 600062-0215-028	 2	 Part Support D10 M8x0,5 - Prism D10, narrow
19	 600062-0215-029	 2	 Part Support D10 M8x0,5 - Prism D14, narrow
20	 600062-0215-005	 1	 Part Support D10 M8x0,5 - Corner Support
21	 600062-0215-025	 4	 Column D10 M6 MF - L15
22	 600062-0215-026	 4	 Column D10 M6 MF - L22,5
23	 600062-0215-027	 4	 Column D10 M6 MF - L30
24	 600062-0215-014	 2	 Column D10 M6 - Adjustable
25	 600062-0215-010	 5	 Part Fastening D10 - Column for Clip, L=40mm
26	 600062-0215-004	 4	 Column D10 M6/M8x0,5 - L50
27	 600062-0215-020	 10	 Thread Adapter M6 - M8x0,5
28		  2	 Hex. sock. M12x20 DIN 7984 8.8 ZNS, 
			   with low head
29		  2	 Hex. sock. M10x20 DIN 7984 8.8 ZNS,  
			   with low head
30	 600062-0351-028	 1	 FIXTURE TECH Kit M6 240x240 Toolkit
31	 600062-0215-038	 1	 FIXTURE TECH Kit M6 240x240 Case
			   (empty case with foam inlay)

All individual parts can also be reordered separately

FIXTURE TECH Kit – M6, 240x240mm 

FTS no.:	 600062-0351-023
Price:	 1.850,00 €



9

zurück zum Inhaltsverzeichnis
Overview: Kit Variations for medium sized components

The FIXTURE TECH Kit – M6, 500x500mm is a universal clamping 
system for medium sized components. The user-friendly modular sys-
tem of stainless-steel components and matching tools enables the 
flexible and easy construction of individual measurement fixtures for 

your CMM. A Gridplate with the dimensions 500mm x 500mm is 
supplied in FIXTURE TECH Kit. The Lite version of the kit is supplied 
without Gridplate. 
Suitable for: medium sized components

Holding device for clamping interior partsHolding device for clamping a bell housing

FIXTURE TECH Kit – Lite M6, 500x500mm 

FTS no.:	 600062-0351-005

FIXTURE TECH Kit – M6, 500x500mm 

FTS no.:	 600062-0351-006
Price:	 1.290,00 € Price:	 2.990,00 €



10

01

01

36

11

08

02

14

10
0712

0919 21 18 17

13

35 35

3535

35

35 35 35

15

05

27

25

35

35
24

06

28

20

29 34 30 32

23 33 22 03 16

31

04

26

35

zurück zum Inhaltsverzeichnis

All individual parts can also be reordered separately

Pos.	  FTS no.	 Qyt.	  Description
01	 600062-0351-005	 1	 FIXTURE TECH Kit Lite - M6, 500x500mm
02	 600062-0210-024	 30	 Thread Adapter - M6x20, centrally carved
03	 600062-0210-025	 2	 Part Support - Cylindrical Pin D8 L30
04	 600062-0210-026	 2	 Part Support - Cylindrical Pin D8 L50
05	 600062-0210-027	 2	 Part Support - Cylindrical Pin D8 L70
06	 600062-0210-062	 4	 Part Fastening D20 M6 - Bar Magnet
07	 600062-0210-067	 2	 Column D20 M6 FF - L10
08	 600062-0210-068	 2	 Column D20 M6 FF - L20
09	 600062-0210-069	 2	 Column D20 M6 FF - L40
10	 600062-0210-070	 2	 Column D20 M6 FF - L60
11	 600062-0210-071	 2	 Column D20 M6 FF - L100
12	 600062-0210-073	 2	 Column D20 M6 MF - L20
13	 600062-0210-074	 2	 Column D20 M6 MF - L40
14	 600062-0210-075	 2	 Column D20 M6 MF - L60	
15	 600062-0210-076	 2	 Column D20 M6 MF - L100	
16	 600062-0210-077	 3	 Part Fastening D20 D8 - Spring Clip, standard
17	 600062-0210-084	 2	 Adapter Col. D20 M6 - M12x1 MF - L60 Bottom Part
18	 600062-0210-085	 2	 Adapter Column D20 M12x1 - M6 MF, adjustable
19	 600062-0210-086	 2	 Part Supp. D20 M12x1 Spherical Supp., adjustable

Pos.	  FTS no.	 Qyt.	  Description
20	 600062-0210-087	 2	 Adapter Column D20 M6 - D8 MF - L30
21	 600062-0210-089	 2	 Adapter Column D20 M12x1 - D8 MF, adjustable
22	 600062-0210-091	 2	 Bracket 20x10x100 - Slot
23	 600062-0210-092	 4	 Bracket 20x10x100 - M6
24	 600062-0210-093	 2	 Bracket 20x10x100 - M12x1
25	 600062-0210-094	 2	 Bracket 25x15x120 - D20
26	 600062-0210-097	 3	 Part Fastening D20, Column for Clip L68
27	 600062-0210-098	 2	 Connecting Elem. D20 M6, Mounting Bracket M6
28	 600062-0210-101	 1	 Part Support D20 D8 - Corner Support
29	 600062-0210-102	 2	 Part Support D20 D8 - Longitudinal
30	 600062-0210-103	 2	 Part Support D20 D8 -  Spherical Support
31	 600062-0210-105	 2	 Part Support D20 - Prism 120° large
32	 600062-0210-108	 2	 Part Support D20 D8 - Cone Support
33	 600062-0210-111	 4	 Bracket 20x10x100 - Cross Bore D8 
34	 600062-0210-112	 2	 Part Support D20 D8 - Flat Support
35	 600062-0210-064	 1	 FIXTURE TECH Kit M6 500x500 Toolkit
36	 600062-0125-001	 1	 FIXTURE TECH Kit Lite M6 500x500 Case
			   (empty case with foam inlay)

Application: medium sized components

FIXTURE TECH Kit – Lite M6, 500x500mm 

FTS no.:	 600062-0351-005
Price:	 1.290,00 €



11

01

01

50

02

42

36 41 38 43

27

37

07 48

29

22

49

49
2826

3220
21

24 19

1718

09
13

10
14

12

16

11

15

49

31 33

49 49

49 49

49

49 39

49

49

46

03
05

44

23

25

45

40
34

04

08

30
47

06

35

zurück zum Inhaltsverzeichnis

All individual parts can also be reordered separately

Application: medium sized components

Pos.	  FTS no.	 Qyt.	  Description
01	 600062-0351-006	 1	 FIXTURE TECH Kit – M6, 500x500mm
02	 600062-0117-000	 1	 Gridplate 500x500x20 black anodized
			   50x50mm M6 Grid
03	 600062-0210-025	 3	 Part Support - Cylindrical Pin D8 L30
04	 600062-0210-026	 3	 Part Support - Cylindrical Pin D8 L50
05	 600062-0210-027	 3	 Part Support - Cylindrical Pin D8 L70
06	 600062-0210-028	 3	 Part Support - Cylindrical Pin D8 L80
07	 600062-0210-062	 6	 Part Fastening D20 M6 - Bar Magnet
08	 600062-0210-067	 3	 Column D20 M6 FF - L10
09	 600062-0210-068	 3	 Column D20 M6 FF - L20
10	 600062-0210-069	 3	 Column D20 M6 FF - L40
11	 600062-0210-070	 3	 Column D20 M6 FF - L60
12	 600062-0210-071	 3	 Column D20 M6 FF - L100
13	 600062-0210-073	 3	 Column D20 M6 MF - L20
14	 600062-0210-074	 3	 Column D20 M6 MF - L40	
15	 600062-0210-075	 3	 Column D20 M6 MF - L60	
16	 600062-0210-076	 3	 Column D20 M6 MF - L100
17	 600062-0210-077	 3	 Part Fastening D20 D8 - Spring Clip, standard
18	 600062-0210-078	 3	 Part Fastening D20 D8 - Spring Clip, narrow
19	 600062-0210-084	 3	 Adapter Col. D20 M6 - M12x1 MF - L60 Bottom Part
20	 600062-0210-085	 3	 Adapter Column D20 M12x1 - M6 MF, adjustable
21	 600062-0210-086	 3	 Part Supp. D20 M12x1 Spherical Supp., adjustable
22	 600062-0210-087	 3	 Adapter Column D20 M6 - D8 MF - L30
23	 600062-0210-088	 3	 Connecting Elements D20 M6 - Hinge L50
24	 600062-0210-089	 3	 Adapter Column D20 M12x1 - D8 MF, adjustable
25	 600062-0210-090	 3	 Adapter Column D20 M6 - M8x1 - L40
26	 600062-0210-091	 4	 Bracket 20x10x100 - Slot
27	 600062-0210-092	 4	 Bracket 20x10x100 - M6
28	 600062-0210-093	 4	 Bracket 20x10x100 - M12x1
29	 600062-0210-094	 2	 Bracket 25x15x120 - D20
30	 600062-0210-095	 2	 Connecting Elements D20 M6 - Cube
31	 600062-0210-096	 3	 Connecting Elements D20 M6, Mount. Bracket M4
32	 600062-0210-097	 4	 Part Fastening D20, Column for Clip L68 
33	 600062-0210-098	 3	 Connecting Elements D20 M6, Mount. Bracket M6
34	 600062-0210-099	 2	 Part Support D20 M6, Spring suspended Cone - L50
35	 600062-0210-100	 2	 Part Support D20 D8 - Universal Prism
36	 600062-0210-101	 2	 Part Support D20 D8 - Corner Support

Pos.	  FTS no.	 Qyt.	  Description
37	 600062-0210-102	 2	 Part Support D20 D8 - Longitudinal
38	 600062-0210-103	 2	 Part Support D20 D8 -  Spherical Support
39	 600062-0210-105	 2	 Part Support D20 - Prism 120° large
40	 600062-0210-106	 2	 Part Support D20 - Prism 90° small
41	 600062-0210-108	 2	 Part Support D20 D8 - Cone Support
42	 600062-0210-111	 4	 Bracket 20x10x100 - Cross Bore D8
43	 600062-0210-112	 2	 Part Support D20 D8 - Flat Support
44	 600062-0001-245	 4	 Part Fastening D20 M6 - Flat Magnet
45	 600062-0210-053	 3	 Part Fastening - Toggle clamp, M6
46	 600062-0210-054	 3	 Part Fastening - Toggle clamp, M4
47	 600062-0210-057	 3	 Part Fastening - Pressure spindel M8x60
48	 600062-0210-024	 50	 Thread Adapter - M6x20, centrally carved
49	 600062-0210-064	 1	 FIXTURE TECH Kit M6 500x500 Toolkit
50	 600062-0125-002	 1	 FIXTURE TECH Kit Lite M6 500x500 Case 
			   (empty case with foam inlay)

FIXTURE TECH Kit – M6, 500x500mm 

FTS no.:	 600062-0351-006
Price:	 2.990,00 €



12

zurück zum Inhaltsverzeichnis
Overview: Kits for small to medium sized components

The FIXTURE TECH Kit – jointed arm, 500x400mm is a universally 
applicable clamping system for small components. The user-friend-
ly modular system has small universal measurement mounting units 
with adjustment or setting options in 6 degrees of freedom. Compo-

nents can thus be fixed in any desired position. A fixture for workpie-
ces can be flexibly and efficiently produced from several fixture units. 
Suitable for: small to medium sized components, prototype cons-
truction.

Jointed Arm Fixture for clamping plastic parts Jointed Arm Fixture for clamping interior parts

FIXTURE TECH Kit – Jointed Arm, 500x400mm 

FTS no.:	 600062-0001-259
Price:	 2.290,00 €



13

01

02

15

16

18

17

03 03

04 20

27

26

25

06

08

03

12
091305

10 07

14
19

21+24

11

23
22

zurück zum Inhaltsverzeichnis

All individual parts can also be reordered separately

Application: small to medium sized components

Pos.	  FTS no.	 Qyt.	  Description
01	 600062-0001-259	 1	 FIXTURE TECH Kit Jointed Arm, 500x400 mm
02	 600062-0210-565	 1	 FIXTURE TECH Kit Jointed Arm 500x400 Case
			   (empty case with foam inlay)
03	 600062-0000-228	 3	 Jointed Arm Unit D25-LU120/UU75/TE60
04	 600062-0001-245	 3	 Part Fastening D20 M6 - Flat Magnet
05	 600062-0215-020	 3	 Thread Adapter M6 - M8x0,5
06	 600062-0000-213	 3	 Part Support D10 M8x0,5 - Knurled Nut
07	 600062-0215-005	 2	 Part Support D10 M8x0,5 - Corner Support
08	 600062-0215-028	 2	 Part Support D10 M8x0,5 - Prism D10, narrow
09	 600062-0215-007	 2	 Part Support D10 M8x0,5 - Prism D10
10	 600062-0215-008	 3	 Part Support D10 M8x0,5 - Cone Support
11	 600062-0215-009	 2	 Part Support D10 M8x0,5 - Flat Support
12	 600062-0215-017	 1	 Connecting Elements D10 M6 - Hinge L40
13	 600062-0215-016	 1	 Part Fastening D10 M6 - Parallel Clamp

Pos.	  FTS no.	 Qyt.	  Description
14	 600062-0215-015	 1	 Part Fastening D10 M6 - Pliers Clamp
15		  1	 Allen-Wrench AF 5mm
16		  1	 Allen-Wrench AF 3mm
17		  1	 Flat Head Screwdriver - short
18		  1	 Open-ended Wrench AF 10mm	
19	 600062-0210-024	 12	 Thread Adapter - M6x20, centrally carved
20		  3	 Socket Head Screw M12x25 DIN 7984 ZNS
21		  3	 Socket Head Screw M8x25 DIN 912 ZNS, 8.8
22		  12	 Socket Head Screw M6x20 DIN 912 ZNS, 8.8
23		  12	 Socket Head Screw M4x20 DIN 912 ZNS, 8.8
24		  3	 Washer D=8,4 DIN 125 ST ZNS	
25		  12	 Washer D=6,4 DIN 125 ST ZNS	
26		  12	 Washer D=4,3 DIN 125 ST ZNS	
27		  10	 Hexagon nut M4 DIN 439 ZNS, low version

FIXTURE TECH Kit – Jointed Arm, 500x400mm 

FTS no.:	 600062-0001-259
Price:	 2.290,00 €



14

zurück zum Inhaltsverzeichnis
Overview: Kits for medium sized to big components

The FIXTURE TECH Kit – jointed arm, 1000x1000mm is a universally 
applicable clamping system for medium to large components. The 
user-friendly modular system has universal measurement mounting 
units with adjustment or setting options in 6 degrees of freedom. 

Components can thus be fixed in any desired position. A fixture for 
workpieces can be flexibly and efficiently produced from several fix-
ture units. Suitable for: medium sized to large components, proto-
type construction

Jointed Arm Fixture for clamping car body parts Jointed Arm Fixture for clamping car body parts

FIXTURE TECH Kit – Jointed Arm, 1000x1000mm 

FTS no.:	 600062-0001-248
Price:	 3.790,00 €



15

01

02

05 10 12

09

03

04

06 07

11

13

14

14

08

16+17

14

15

zurück zum Inhaltsverzeichnis

All individual parts can also be reordered separately

Application: medium sized to big components

Pos.	  FTS no.	 Qyt.	  Description
01	 600062-0001-248	 1	 FIXTURE TECH Kit-Jointed Arm,1000x1000mm
02	 600062-0001-249	 1	 FIXTURE TECH Kit Jointed Arm 1000x1000 Case
			   (empty case with foam inlay)
03	 600062-0210-085	 3	 Adapter Column D20 M12x1 - M6 MF, adjustable
04	 600062-0210-089	 3	 Adapter Column D20 M12x1 - D8 MF, adjustable
05	 600062-0210-101	 1	 Part Support D20 D8 - Corner Support
06	 600062-0210-102	 2	 Part Support D20 D8 - Longitudinal
07	 600062-0001-245	 3	 Part Fastening D20 M6 - Flat Magnet
08		  1	 Open-ended Wrench AF 10mm

Pos.	  FTS no.	 Qyt.	  Description
09		  1	 Open-ended Wrench AF 19mm
10		  1	 Allen-Wrench AF 2mm
11		  1	 Allen-Wrench AF 3mm
12		  1	 Allen-Wrench AF 4mm
13		  1	 Allen-Wrench AF 5mm
14	 600062-0322-001	 3	 Jointed Arm Unit D50 with Base Plate 100
15	 600062-0001-174	 12	 Jointed Arm Adapter M6, for Base Plate 100
16		  12	 Socket Head Screw M12x50 DIN 912 8.8
17		  12	 Washer 13mm DIN 125 A	

FIXTURE TECH Kit – Jointed Arm, 1000x1000mm 

FTS no.:	 600062-0001-248
Price:	 3.790,00 €



16

zurück zum Inhaltsverzeichnis
Overview: Kits for large components

The FIXTURE TECH Kit – Profile, 1800x600mm is a multifunctional 
clamping system in profile design for large metal and plastic compo-
nents. The fixture series is mainly used on large CMM´s and horizon-

tal arm machines. The kit offers easy part change, versatile mounting 
elements and a wide range of applications.  
Suitable for: large-volume components

Profile Fixture for clamping car body parts Profile Fixture for clamping car body parts

FIXTURE TECH Kit – Profile, 1800x600mm 

FTS no.:	 600062-0001-260
Price:	 7.490,00 €



17

03

25
02

02

01

14

24

16 24 17 12

19 20 15

24 24 24 24

13

18

21

23

05 04 22 08

09

06

11

11

23

07

10

10

04

zurück zum Inhaltsverzeichnis

All individual parts can also be reordered separately

Application: large components

Pos.	  FTS no.	 Qyt.	  Description
01	 600062-0001-260	 1	 FIXTURE TECH Kit - Profile, 1800x600mm
02	 600062-0001-258	 1	 FIXTURE TECH Kit - M6, 500x500mm, without Gridplate
03	 600062-0351-049	 1	 FIXTURE TECH Kit M6 - 1800x600mm - Profile Set
04	 600062-0000-185	 3	 Profile 60x60 L=220mm
05	 600062-0000-164	 3	 Profile 60x60 L=320mm
06	 600062-0000-165	 2	 Profile 60x60 L=570mm
07	 600062-0000-166	 2	 Profile 60x60 L=670mm
08	 600062-0000-167	 2	 Profile 60x60 L=720mm
09	 600062-0000-186	 2	 Profile 60x60 L=820mm
10	 600062-0000-168	 2	 Profile 60x60 L=1020mm
11	 600062-0000-187	 2	 Profile 60x60 L=1070mm
12	 600062-0000-169	 2	 Positioning bracket
13	 600062-0000-170	 5	 Cross adapter plate

Pos.	  FTS no.	 Qyt.	  Description
14	 600062-0000-171	 15	 Adapter plate, 60mm
15	 600062-0000-172	 4	 Flange plate, 60mm
16	 600062-0000-137	 50	 Positioning bushing D9
17	 600062-0000-162	100	T-nut R M6
18	 600062-0000-175	 4	 Foot plate 60-80	
19	 600062-0000-176	 1	 Fixing bolt HA D16 M12 green
20	 600062-0000-177	 1	 Fixing bolt NA D16 M12 red	
21	 600062-0000-178	 2	 V-block 90° POM	
22	 600062-0000-179	 2	 V-block 60° POM	
23	 600062-0000-180	 2	 V-block 120° POM	
24	 600062-0000-181	 1	 FIXTURE TECH Kit M6 1800x600 Toolkit
25	 600062-0000-184	 1	 FIXTURE TECH Kit M6 1800x600 Case	
	 		  (empty case with foam inlay)

FIXTURE TECH Kit – Profile, 1800x600mm 

FTS no.:	 600062-0001-260
Price:	 7.490,00 €



18

77

77

77

77

79

78 78

79 79 79

79

79

79

79

76

66 67 68

59

69

74

65 53 54

64

57

63
60 58

62 5561

73
72 71 70

56

70 70 70

52

38 40 45 5039 43 21 33 35 48 47

29 44

09
04

23
22

14

31

28 30

24

18

19 20

11 12 13 251015 16 17

26 49

37

08 06
05 4207 41

32
36

27
50 46

5050

03

02

5034

zurück zum Inhaltsverzeichnis

All individual parts can also be reordered separately

Overview: Assembly Trolley

The FIXTURE TECH Kit – Profile Assembly Station, 1200x400mm is a 
multifunctional clamping system in profile design for small, medium 
sized and large metal and plastic components. The assembly trolley 

with rollers must be ordered individually, it can be equipped individu-
ally and the content can be expanded at any time. Please contact us 
to configure an individual assembly trolley at: 
info@fixture-tech.com

FIXTURE TECH Kit – Profile Assembly Station 1200x400mm 

FTS no.:	 600062-0351-035
Price:	 12.900,00 €

mailto:info%40fixture-tech.com?subject=


19

zurück zum Inhaltsverzeichnis

All individual parts can also be reordered separately

Application: Assembly Trolley

FIXTURE TECH Kit – Profile Assembly Station 1200x400mm 

FTS no.:	 600062-0351-035

Pos.	 FTS no.	 Qyt.	  Description
01	 600062-0351-035	 1	 FIXTURE TECH Kit – Profile Assembly Station 1200x400mm
02	 600062-0351-053	 1	 Roller Cabinet with 6 Drawers
03	 600062-0351-039	 3	 Drawer - FIXTURE TECH Kit – M6 500x500mm
04	 600062-0210-024	 50	 Thread Adapter - M6x20, centrally carved
05	 600062-0210-025	 3	 Part Support - Cylindrical Pin D8 L30
06	 600062-0210-026	 3	 Part Support - Cylindrical Pin D8 L50
07	 600062-0210-027	 3	 Part Support - Cylindrical Pin D8 L70
08	 600062-0210-028	 3	 Part Support - Cylindrical Pin D8 L80
09	 600062-0210-062	 6	 Part Fastening D20 M6 - Bar Magnet
10	 600062-0210-067	 3	 Column D20 M6 FF - L10
11	 600062-0210-068	 3	 Column D20 M6 FF - L20
12	 600062-0210-069	 3	 Column D20 M6 FF - L40
13	 600062-0210-070	 3	 Column D20 M6 FF - L60
14	 600062-0210-071	 3	 Column D20 M6 FF - L100
15	 600062-0210-073	 3	 Column D20 M6 MF - L20
16	 600062-0210-074	 3	 Column D20 M6 MF - L40	
17	 600062-0210-075	 3	 Column D20 M6 MF - L60	
18	 600062-0210-076	 3	 Column D20 M6 MF - L100
19	 600062-0210-077	 3	 Part Fastening D20 D8 - Spring Clip, standard
20	 600062-0210-078	 3	 Part Fastening D20 D8 - Spring Clip, narrow
21	 600062-0210-084	 3	 Adapter Column D20 M6 - M12x1 MF-L60, Bottom Part
22	 600062-0210-085	 3	 Adapter Column D20 M12x1 - M6 MF, adjustable
23	 600062-0210-086	 3	 Part Support D20 M12x1 Spherical Support, adjustable
24	 600062-0210-087	 3	 Adapter Column D20 M6 - D8 MF - L30
25	 600062-0210-088	 3	 Connecting Elements D20 M6 - Hinge L50
26	 600062-0210-089	 3	 Adapter Column D20 M12x1 - D8 MF, adjustable 
27	 600062-0210-090	 3	 Adapter Column D20 M6 - M8x1 - L40

Pos.	 FTS no.	 Qyt.	  Description
28	 600062-0210-091	 4	 Bracket 20x10x100 - Slot
29	 600062-0210-092	 4	 Bracket 20x10x100 - M6
30	 600062-0210-093	 4	 Bracket 20x10x100 - M12x1
31	 600062-0210-094	 2	 Bracket 25x15x120 - D20
32	 600062-0210-095	 2	 Connecting Elements D20 M6 - Cube
33	 600062-0210-096	 3	 Connecting Elements D20 M6, Mounting Bracket M4
34	 600062-0210-097	 4	 Part Fastening D20, Column for Clip L68 
35	 600062-0210-098	 3	 Connecting Elements D20 M6, Mounting Bracket M6
36	 600062-0210-099	 2	 Part Support D20 M6, Spring suspended Cone - L50
37	 600062-0210-100	 2	 Part Support D20 D8 - Universal Prism
38	 600062-0210-101	 2	 Part Support D20 D8 - Corner Support
39	 600062-0210-102	 2	 Part Support D20 D8 - Longitudinal
40	 600062-0210-103	 2	 Part Support D20 D8 -  Spherical Support
41	 600062-0210-105	 2	 Part Support D20 - Prism 120° large
42	 600062-0210-106	 2	 Part Support D20 - Prism 90° small
43	 600062-0210-108	 2	 Part Support D20 D8 - Cone Support
44	 600062-0210-111	 4	 Bracket 20x10x100 - Cross Bore D8
45	 600062-0210-112	 2	 Part Support D20 D8 - Flat Support
46	 600062-0001-245	 4	 Part Fastening D20 M6 - Flat Magnet
47	 600062-0210-053	 3	 Part Fastening - Toggle clamp, M6
48	 600062-0210-054	 3	 Part Fastening - Toggle clamp, M4
49	 600062-0210-057	 3	 Part Fastening - Pressure spindel M8x60
50	 600062-0210-064	 1	 FIXTURE TECH Kit M6 500x500 Toolkit
51		  1	 Drawer – FIXTURE TECH Kit, M6 500x500mm
			   (Foam Inlay)
52	 600062-0351-038	 1	 Drawer - CML50 Profile Accessories
53	 600062-0351-040	 10	 CML50 Column Adapter - M6
54	 600062-0351-041	 8	 CML50 Gridplate - M6
55	 600062-0000-413	 80	 CML50 Pin bushing - D12,5
56	 600062-0000-406	 18	 CML50 Precision plate
57	 600062-0000-407	 80	 CML50 connecting bolt M6
58	 600062-0000-408	 80	 CML50 connecting bolt KM6
59	 600062-0000-766	 2	 CML50 Base Plate with mounting hole
60	 600062-0000-767	 4	 CML50 Base Plate
61	 600062-0001-008	 1	 Fixing bolt HHA D16 M12 RG
62	 600062-0001-009	 1	 Fixing bolt HNA D16 M12 RG
63	 600062-0000-178	 2	 Part Support D20 - Prism 90°, Plastic
64	 600062-0000-179	 2	 Part Support D20 - Prism 60°, Plastic
65	 600062-0000-180	 2	 Part Support D20 - Prism 120°, Plastic
66	 600062-0210-079	 2	 Part Fastening - Tension Spring 40
67	 600062-0210-080	 2	 Part Fastening - Tension Spring 80
68	 600062-0210-081	 2	 Part Fastening - Tension Spring 120
69	 600062-0210-110	 4	 Part Fastening - Rubberized Tension Hook
70		  200	Socket Head Screw M6x25 DIN 912 ZNS
71		  50	 Socket Head Screw M6x20 DIN 912 ZNS
72		  40	 Socket Head Screw M6x30 DIN 912 ZNS
73		  100	Washer D=6,4 DIN 125 ST ZNS
74		  200	Schnorr washer N0110 - S6 ZNS
75		  1	 Drawer - CML50 Profile Accessories
			   (Foam Inlay)
76	 600062-0351-037	 1	 Drawer - CML50 Profile Set1
77	 600062-0351-043	 4	 CARFIT Profil CML 50x50 L=750mm
78	 600062-0351-044	 2	 CARFIT Profil CML 50x50 L=500mm
79	 600062-0351-045	 8	 CARFIT Profil CML 50x50 L=250mm
80		  1	 Drawer - CML50 Profile Set1
			   (Foam Inlay)

Price:	 12.900,00 €



20

zurück zum Inhaltsverzeichnis

Jointed Arm Unit  D25-UT120 / OT75 / AE60 
Base Plate Grid 50, short version 

FTS no.:	 600062-0000-228

Jointed Arm Unit  D50-UT240 / OT150 / AE150 
Base Plate Grid 100 

FTS no.:	 600062-0322-001

Jointed Arm Unit  D25-UT120 / OT150 / AE120 
Base Plate Grid 50, long version 

FTS no.:	 600062-0000-229

Jointed Arm Unit  D50-UT240 / OT150 / AE150 
Base Plate Magnetic D120 

FTS no.:	 600062-0326-001

Jointed Arm Unit  D50-UT240 / OT150 / AE150 
Base Plate for CARFIT 60 Profile 

FTS no.:	 600062-0327-001

All individual parts can also be reordered separately

Overview: Jointed Arm Units

The Jointed Arm D25 series is available in a short and a long version. 
The short version is contained in the Jointed Arm 500x400 Kit 
(600062-0001-259) and it offers a minimum height of 200mm and 

a maximum heigth of 255mm. The long version offers a minimum 
height of 250mm and a maximum height of 330mm. 

The basic configuration of Jointed Arm D50 series enables a mini-
mum height of 385mm and a maximum height of 500mm. It is avai-
lable with 3 types of base plates for different types of fastening.

All components of the basic configuration are available in various 
sizes and can be exchanged individually.

Price:	 549,00 €

Price:	 899,00 €

Price:	 999,00 €

Price:	 1.150,00 € Price:	 850,00 €



21

zurück zum Inhaltsverzeichnis

Toggle-joint clamp with M5 mounting and clamp arm extension

600062-0340-001 - Toggle Clamp 60
600062-0341-001 - Toggle Clamp 100
600062-0342-001 - Toggle Clamp 140
600062-0343-001 - Toggle Clamp 180

Adjustable locator

Adjustable clamping bracket
600062-0338-001 - Adjustable Bracket 80
600062-0339-001 - Adjustable Bracket 180

Top End Unit
600062-0334-001 - Top End Unit 150
600062-0335-001 - Top End Unit 200
600062-0336-001 - Top End Unit 250

Upper lifting unit
600062-0332-001 - Upper Lifting Unit 150
600062-0333-001 - Upper Lifting Unit 280

Lower lifting unit

600062-0328-001 - Lower Lifting Unit 240
600062-0329-001 - Lower Lifting Unit 330
600062-0330-001 - Lower Lifting Unit 450

Base Plate
600062-0323-001 - Base Plate Grid 100
600062-0324-001 - Base Plate Grid 200
600062-0325-001 - Base Plate Magnetic D120
600062-0347-001 - Base Plate for CARFIT 
                                60 Profile

Toggle-joint 
clamp riser

600062-0344-001 -
Toggle Clamp Riser 75

600062-0345-001 -
Toggle Clamp Riser 155

Jointed Arm Units components

600062-0210-085 - D20 M12x1 - M6 MF
600062-0210-089 - D20 M12x1 - D8 MF
600062-0210-086 - D20 M12x1 - Spherical Support

The Jointed Arm Units and the components of the D50 series are 
separately available. If you need support with the configuration of 

your individual units, please contact us at:
info@fixture-tech.com

mailto:info%40fixture-tech.com?subject=


22

zurück zum Inhaltsverzeichnis
Concept creation

Isometric view of a fixture 3D model of a fixture

If you need assistance, we offer the creation of individual assembly 
instructions based on your workpiece and our FIXTURE TECH Kit com-

ponents. Please contact us for a quotation:
info@fixture-tech.com

mailto:info%40fixture-tech.com?subject=


23

Notes



FIXTURE TECH Solutions GmbH  I  Auf Rodert 6  I  66636 Tholey  I  Germany

Telephone:	 +49 68 53 50 12-0 
Telefax:	 +49 68 53 50 12-31
E-Mail: 	 info@fixture-tech.com 

D
es

ig
n 

an
d 

sc
op

e 
of

 d
el

iv
er

y 
as

 w
el

l a
s 

te
ch

ni
ca

l f
ur

th
er

 d
ev

el
op

m
en

t a
re

 s
ub

je
ct

 to
 c

ha
ng

e

www.fixture-tech.com

mailto:info%40fixture-tech.com?subject=

